0001529540748999

(2o—O@ WuLUAXE O0—e—>

2011 4 AR A BURTHR 55 1 [
&

1] [ oz s Ans.

(1) 871 <10% < 8 %729 HARB n DffI% THb. 2L, logp2=10.3010 £ § 5.

(2) AABCO3IDOEINa=9, b=8, c=TThdL %, sind= THY, TO=MBOHBIL
Thb.

(3) 2R 22+ kx+3 =001 20fFh a =
7z, @+ aP 1 OflERDD L Thd.
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(4) ﬁéﬁfo |22 —1]dx = THd. £, B f(2) BTRTOER 2 1T LTER f(x) =

2
=1+ [ fOa kT E, f2) = <H%.

(5) a, bIFEET, a<0rF5. a<r<3EERMLTH MMy = S22 — 2 +bOffilkH —5 <y <3

2
chiLE, a=[7 ] b= TH%.
(6) a0 CAVERETS. B £(2) = 2° — 3az? — 9a%x + 3a DRMENEIZ BB L %, aDED >3

oY <hs.
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